Optim

Optim1
OptimType=Gradient
Maxlters=20000
DesiredError=0.0
StatusLevel=4

SetBestValues=yes
SaveSolns=yes
SaveGoals=yes
SaveOptimVars=no
UpdateDataset=yes
SaveNominal=no
SaveAlllterations=no
UseAllOptVars=yes
UseAllGoals=yes

VAR
VAR2

I@I S-PARAMETERS I

MSUB
MSub1
H=0.762 mm
Er=3.66
Mur=1
Cond=5.8e7
Hu=3.9e34 mil
T=18 um
TanD=0.0031
Rough=0 mm
Bbase=
Dpeaks=

MLIN

VAR

Zfund=10.649 - j*4.039
Z2nd=0
Z3rd=0
Z4th=0
2Z5th=0

S_Param Lstub=2.05471{-0} k51U TL62 N Ties
221‘—5900 MH. Ang=100 (-} Stub1 MTRE_ADS  subst="MSub1" Subst="MSub1"
s = Z Subst="MSub1" W=1.25 mm W=1.25 mm
top=29500 MHz Wi=0.2 mm ="MSub1{'=0.5 mm 1205 i
Step=5900 MHz L=Lstub mm ] :
Angle=Ang 2pmm

Sfund=(Zfund-conj(PortZ1))/(Zfund+PortZ1)
S2nd=(Z2nd-conj(PortZ1))/(Z2nd+PortZ1)
S3rd=(Z3rd-conj(PortZ1))/(Z3rd+Portz1)
S4th=(Z4th-conj(PortZ1))/(Z4th+PortZ1)
S5th=(Z5th-conj(PortZ1))/(Z5th+Portz1)

Zin1=zin(S11,Portz1)

SaveCurrentEF=no
EnableCockpit=yes

VAR3

L_dc=7.9992 {-0} o
=L_dc mm

-0 0+

MGAP

Gap1

Subst="M;
T

SaveAllTrials=no

Term1 MLIN
Num=1 TL66
Z=50 Ohm Subst="MSub1"
W=1.51 mm
L=Lbeg mm
-
MeasEqgn
Meas2

Sfund_err=abs(S11[0]-Sfund)

S2nd_err=abs(S11[1]-S2nd)
S3rd_err=abs(S11[2]-S3rd)
S4th_err=abs(S11[3]-S4th)
S5th_err=abs(S11[4]-S5th)

MTEE_ADS MLIN
Tee5 TL59
Subst="MSub1" SUbSt=”MSUk§ubst=”MSub1 "
W1=W1mm W=W1mm W1=1.54 mm
51mm  L=L1mm
W3=0.2 mm

MSTEP
Step1

=

VAR
VAR33
L1=5.57515 {o}
W 1=2.49988 {0}

Lbeg=14.3627 {0}

GOAL

GOAL

Goal

OptimGoal1
Expr="Sfund_err"
SiminstanceName="SP1"
Weight=5

MLIN

TL2
Subst="MSub1"
W=W2mm
L=L2 mm

ECADS

st="MSub1"
1.25mm
W2 mm
Ws1 mm

MLEF

ub1"
u
MLIN
TL65
Subst="MSub1"
W=125mm
1205 mm AN
Tee|
Su
W1
W2
W3
VAR
VAR35

W2=2.19967 {0}
L2=4.50985 {o}

TL55
Subst="MSub1"
W=Ws1mm
L=Ls1 mm

W3=2.49998 {0}
1.3=2.00008 {o}

VAR

VAR34
W4=2.49999 {0}
L4=2.00005 {0}

Goal
OptimGoal2
Expr="S2nd_err"

SimInstanceName="SP1"

Weight=3

Goal
OptimGoal 11
Expr="dB(S21[0])"
SimInstanceName="SP1"
Weight=1

Goal

OptimGoal9
Expr="abs(Zin1[2])"
SiminstanceName="SP1"
Weight=1

MLIN MLIN
TL3 TL57
MTRE_ADS Subst="MSub1" MTRE_ADS Subst="MSub1"
Te W=W3 mm Tee W=W4 mm
Sufst="MSub1" | =3 mm Sufst="MSub1" | =4 mm
W1EW2 mm W1EW3 mm
W2EW3 mm W2EW4 mm
W3EWs2 mm W3EWs3 mm
MLEF MLEF
TL56 TL58
Subst="MSub1" Subst="MSub1"
W=Ws2 mm W=Ws3 mm
= L=Ls2 mm = L=Ls3 mm
VAR
[7] VAR [7] VAR =] VAR VARS7
VAR36 VAR39 VAR38 15=3.00007 {0}
Ws1=1.50002 {o} Ws2=2.3439 {0}  Ws3=1.45 {0}

Ls1=13.5234 {0}

152=10.0169 {0}

Ls3=13.9994 {0}

Term
MTAPER Term2
Taper1 Num=2
Subst="MSub1" Z=50 Ohm
W1=W4 mm
W2=1.651220 mm

L=L5 mm



